p| Homework 8.6 — Integration by Substitution
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For the indefinite integral

f 2 dx,
a good choice for a i -substitution is
=
du=

After making the substitution into the integral, we have
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For the indefinite integral
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a good choice for a & -substitution is
u=
du=
After making the substitution into the integral, we have
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3. apt alfredLihraryfAUCIfchajpter&flesmnﬁfdeﬁniteusnh’?.pg
Consider the definite integral f; (2x— 2)” dx.

Then the most appropriate substitution to simplify this inte-
gral is

0=
du —

After making the substitution, changing the limits of integra-
tion, and simplifying, we obtain

.[:(217—2)20'.:: —[— ~ _
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Consider the definite integral f 2(2+32) ax.
1

Then the most appropriate substitution to simplify this inte-
gral is

=
du =

After making the substitution, changing the limits of integra-
tion, and simplifying, we obtain

[x2(2+313)3dx: _f_
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Evaluate the definile integral using an appropriate &-
substitution.
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